The purpose of this experiment was to see which mixtures smelled like wintergreen.

The 8 esters and the reactants (alcohols and carboxylic acids) from which they will be

made are shown in Table 1.  We checked the smell mixtures by using odor.  Two, and only two, of the mixtures should smell like wintergreen (they contain methyl

salicylate) pinpointing one starting alcohol (methanol) and one acid (salicylic acid).
The first mixture that smelled like wintergreen involved the reaction of CA4 with AA and AB (2 esters will form).  The second mixture that smelled like wintergreen involved the reaction of CA1, CA2, CA3, and CA4 with the other alcohol AB (4

esters will form).
CA means carboxylic acid and AB or AA means the alcohol.
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Directions:
Please use the Deconvolution table above as an example and construct the same Deconvolution table format using the two mixtures that smelled like alcohol to identify methanol and salicylic acid starting materials from the combinatorial product mixtures.  Please also give a good summary on how and why you came to this conclusion.  
THANK YOU VERY MUCH!!!
